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Mean    5.274
RMS    0.09465

 / ndf 2χ  113.2 / 95
Prob   0.09797
p0        64.53± 307.1 
p1        12.23± -29.58 
p2        76.32±  2265 
p3        0.0004285± 5.279 
p4        0.0004203± 0.01168 

2GeV/c
5.1 5.15 5.2 5.25 5.3 5.35 5.4 5.45
0

50

100

150

200

250

300

350

400

450

Mass_Plot
Entries  17808
Mean    5.274
RMS    0.09465

 / ndf 2χ  113.2 / 95
Prob   0.09797
p0        64.53± 307.1 
p1        12.23± -29.58 
p2        76.32±  2265 
p3        0.0004285± 5.279 
p4        0.0004203± 0.01168 

 invariant mass+ Kµµ

 B > 6.5 GeV/ctp

 K >  2GeV/ctp

 hitsφ3 Silicon R-
2

 - 3096| < 80 MeV/cψJ/|Mass

) > 0.0012χProb(

Good run selection

 regionσ6-
76±Nb of cand. = 2265 -1

250 pb

Final_Mass
Entries  82824
Mean    5.272

RMS    0.09903

 / ndf 2χ  39.47 / 25
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p0        58.92±  1379 
p1        0.0005745± 5.279 
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d3hitSigS_EbE
Entries  953
Mean    4.018
RMS       6.1

 / ndf 2χ  28.55 / 19
Prob   0.07332
amp       8.466± 122.9 

   σ  0.05511± 1.222 
scale     84.99± 485.6 

  λ  6.536±  21.3 
 2 σ  0.8461± 0.4708 
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0.05± = 1.22σ
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Prob   0.2486
amp       11.51± 191.1 
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  λ  2.207± 12.79 
 2 σ  0.6575± 3.182 
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Mean    3.663
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 / ndf 2χ   22.7 / 19
Prob   0.251
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 / ndf 2χ  21.51 / 19
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 2 σ  1.933±     1 
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Bu data (d) Event by Event
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   σ  0.08441± 1.301 
scale     63.18± 372.2 

  λ  6.238± 18.55 
 2 σ  1.065± 1.628 

-5 0 5 10 15 20

1

10

10
2

d3hitSigS_EbE
Entries  728
Mean    4.019
RMS     6.047

 / ndf 
2χ  22.94 / 19

Prob    0.24
amp       7.102± 87.16 

   σ  0.08441± 1.301 
scale     63.18± 372.2 

  λ  6.238± 18.55 
 2 σ  1.065± 1.628 

d3hitSigS_EbE d2hitSigS_EbE
Entries  1169
Mean    4.039
RMS     6.201

 / ndf 2χ  22.51 / 19
Prob   0.2594
amp       8.839± 138.4 

   σ  0.05624± 1.328 
scale     50.56± 538.7 

  λ  3.004±  15.7 
 2 σ  0.4716± 0.5182 

-5 0 5 10 15 20

1

10

10
2

d2hitSigS_EbE
Entries  1169
Mean    4.039
RMS     6.201

 / ndf 2χ  22.51 / 19
Prob   0.2594
amp       8.839± 138.4 

   σ  0.05624± 1.328 
scale     50.56± 538.7 

  λ  3.004±  15.7 
 2 σ  0.4716± 0.5182 

d2hitSigS_EbE d1hitSigS_EbE
Entries  784
Mean     3.37
RMS     5.734

 / ndf 2χ  13.37 / 19
Prob   0.8194
amp        7.47± 103.8 

   σ  0.07768± 1.384 
scale     42.94± 343.5 

  λ  4.274± 15.78 
 2 σ  1.035±  1.26 

-5 0 5 10 15 20

1

10

10
2

d1hitSigS_EbE
Entries  784
Mean     3.37
RMS     5.734

 / ndf 2χ  13.37 / 19
Prob   0.8194
amp        7.47± 103.8 

   σ  0.07768± 1.384 
scale     42.94± 343.5 

  λ  4.274± 15.78 
 2 σ  1.035±  1.26 

d1hitSigS_EbE

d0hitSigS_EbE
Entries  293
Mean    3.813
RMS     6.297

 / ndf 2χ  27.36 / 19
Prob   0.09652
amp       4.071± 33.65 

   σ  0.1453± 1.584 
scale     54.28± 144.3 

  λ  13.87± 20.04 
 2 σ  0.9527±   0.5 

-5 0 5 10 15 20

1

10

d0hitSigS_EbE
Entries  293
Mean    3.813
RMS     6.297

 / ndf 2χ  27.36 / 19
Prob   0.09652
amp       4.071± 33.65 

   σ  0.1453± 1.584 
scale     54.28± 144.3 

  λ  13.87± 20.04 
 2 σ  0.9527±   0.5 

d0hitSigS_EbE dL0hitSigS_EbE
Entries  204
Mean    4.186
RMS     6.574

 / ndf 2χ  18.57 / 19
Prob   0.485
amp       3.497± 24.36 

   σ  0.1592± 1.491 
scale     284.7± 124.7 

  λ  25.14± 28.23 
 2 σ  3.708±  1.19 

-5 0 5 10 15 20

1

10

dL0hitSigS_EbE
Entries  204
Mean    4.186
RMS     6.574

 / ndf 2χ  18.57 / 19
Prob   0.485
amp       3.497± 24.36 

   σ  0.1592± 1.491 
scale     284.7± 124.7 

  λ  25.14± 28.23 
 2 σ  3.708±  1.19 

dL0hitSigS_EbE

�`59:�2�����r�, ) � � � 56:��/59F )*
���)*����p%��=��4"���� � �*)+����'>'��*)*
�L[!6����:���= � 	�� � � t � 	�� v(p;���H"o�����Is � -
����)*��w�����L ' 
W�C
 t 1 �^vD56��)*
����y��pS����
�)
	��3F�������'�"���56�1
���LTw��*�����+|o,>� ����� ����" !6��pU�0���T��59:�=P�Bz
����
�)
	3�EQS59��=Nj4! � �I=�59���*z )�=�5M���*z%�O=�5M�Bze���G! � �I=�59�*z 
��/'N���4! � �1=/59�A?�2/������� ���1=/59�A���Y��=/�
?@���������_��56:�=P�B,

�������
	�����	�
�������	��������������������������� ���!�	��� �	����" �����#����$!%�������&�' ��������(�)�*��#����� &�+#��',����*�*#�������-



� ��j

�7L ����!6��)���59��:Z��=��Y"@��"�2/!V
$��56��� ��p��+w����3���G��= 
W�4)��������*��"@����'/�4���}��=�� 1
� �1
�����"@�B
�	ez%5~,k��,
��=/�D�*�/���*�D?�!6�H��p � ��� � ����
�)
	3����?/��
�56����'Y
WpU���*��)*2c���A��= 
$�A)*�����(p;����� 1 � �1�������g'��*)*
BLc��z
��=/�1)C= 
$��
�)+���*��56�8��56)��0�$p]��=/�*��� 1 � ��56:���
�!l��w��*�P���O59�}���*���1�H��p]��=�� ��2�
��P��59� L � ���� � � ���"!

)B
$�[?@�
)C=���)
	��*' ,�-%=��("������1"/�����*����!62c��56���R56����=/� �32 
$�3��59� LR�$p`59�3���*���*����=������$ze
���'K
\"�����)*56����w��*�8��� |
'��+���*���159� 
$��56���a59�R�*�����*�P��5V
�!�p;���1��=�59�y
�� 
�!MLc��56��z�QS5M��= ��=��J?@�*�8�K���*����!62c��56���m, � 56��)��T��=��*���
56�Pw��*����56:P
W��56�����4���/!9L )*���/)*�*��� ��=��N'/������)������R"�����"o������59�*��z�5M�459�G���*
������ 
�?�!9�g���[�+|c"o��)��y��=/�
��
$�1�H)C= 
���
�)����*��59����56)*�Sp;���%��=/�D? 
�)
	3:�����2���'N
���'g��=��H����2�:�=3��1�3]��56:���
�!~,7-%=��D)��������*)���F��A��p
��=/���*�P��59����'/56������59?�2/��59���459��56��"@������
��P�]59�G����'/�*�]���O��?/��
�56�R
$�y
�)*)�2���
$���Ew$
�!62/�E��p#��=/�EQS56'/��=

�
��pf��=��("������1"/� �H
�2/����56
��K'�56�8����59?�2/��56���R
$������)*56
$����'K���\��=���w��������+|K��������!92/��59���m,

-f
�?�!9�Er�,��0��2/�1�1
���59�����.��=��E���*��2/!9���]��pm��=/�EF����]
���'4��=�����?c�C
�59���*'1"�������"/�]���*����!62c��56�����*z
QS59��= )*����" 
���56�������O?@��� Q7�*�*����=��y����
���' 
$��' �1�+��=���' ��p�w��*�8��� | �1�*
���2����*���*�P�Yt � ��'ev+z���=/�
2����4��p���=�� ��? � ���*)C=��/5 �32���zf��=��1' 
$�C
y��
$�1"�!9�1?@��p;�����I��=��4s � -d"�����?/!6�*� t 
�v(
���'[
$pU�����
��=/�Ds � - ���*)���w��*�8LZt �%v ,�������2�!M����p;��� 
K���P���0s�
���!9�I
����H
�!9���\��=���QS�gQS59��=R��=��('���"o����'��*�/)*�
���4��=��Aw$
���56��2/�]��59!659)*����=�59���7"@������56?/56!65M��59�*�*,&-%=�������
����E���D56��'�59)B
$��56���/�.�$p#
D)*��������!V
$��56���IQS59��=
��=/� �%���G)*���P�����P�B, � �T����'��*�����R"o����p;����� 
G)*��������)��H��"/��56��56��
$��59���g2/��56�/:G��=�� 
g���3���1s�
���!9�
��59:�� 
�!f��
���"�!9��z^59��56��59�1"@������
��P�E��= 
$����=/��'�
$�C
R
����\Q]��!6!X���*"����c'�2/)*�*' ,\-%=�56���8��2�'/LN��=���QS�
��=�
$�O
g��)B
$!6�1p�
$)������0�����*'��0���Y?@�G
$"�"�!659�*'}���g��=�� 
K���P���ys�
���!6�KQS59��=}��=���w$
�!62�� ��, � �Kp;���
)B
$���*����p`
$�S!6�*
����S����� �%���I=/59��
���'g
Ow$
�!62����$p ��, j � p;���%)*
�������QS5M��=���2c� �%���I=/59�B,

� �`56�#p;��2���'H��= 
$�f��=��7
�� 
$!9L���59�f)*
��O?@�]'����/�]2���56��:A?o����=D' 
W�C
A�����fQS59��=/��2/�&��=��7�+|c)*!92���59���
��p@
�" 
$����59)*2�!6
��&)*���/F�:�2���
W��56���O���D��=�� ��� ��=�5M���*z�
���'O��= 
$�X��=�� �l?��}���*)C=��/5 �32��%)B
$�\?o��2/���*' z

�!M��=���2/:�=\59�l'/�c���.�/����)*!9�B
���!9L056��"�����w��7��=��S��������!92/��59���m,f� ���X��=��%)�2/�.��"/��56��56��
W��56���mz�
Ep�
$)������
QS59��=\
�)C= 
��/:�56��:Aw�
$!62��7'��*"@�*��'/56��:����O��=�� ��� �E=/59���`= 
��`����?o��
�"�"�!956�*'0���E��=�� 
g���P����s�
���!9�
56�y����'��*�%������)B
�!9����=��(' 
W�C
/,



� �$r

� ��'[t 
�v �l?��{t 
�v � ��'Zt �%v �l?���t �%v
j ��� �O����
$)
	�� ��, ��j��"�/, � � ��, ) )����/, ��� ��, ) � �"�c, � � ��, j � ���/, � �
) ��� �O����
$)
	�� ��, )����"�/, � � ��, �Br ���/, � � ��, j�� �"�c, ��� ��, j )����/, ���
� ��� �O����
�)
	 ��, � ) �"�/, ��
 ��,���� ���/, � � ��, j$r �"�c, � � ��, j � ���/, ��

"�� �%���\����
�)
	 ��, ) � �"�/, � � ��, )�� ���/, �
� ��, r�r �"�c, ��j ��,�� � ���/, �*r
"A� ��� �/z(� ��� ��, j ���"�/, � � ��, j � ���/, � � ��, j � �"�c, � � ��,kr � ���/, � �


g���P���Os�
���!6�Kt � ��'ev 
g���P���0s�
���!6�gt �l?��.v � �

j ��� �O����
$)
	�� ��, ��� �"�/, ��r ��, � � ���/, � ) � �

) ��� �O����
$)
	�� ��, � 
 �"�/, ��j ��, �Br ���/, ��j � �

� ��� �O����
�)
	 ��, )����"�/, � � ��, � � ���/, � � � �

"�� �%���\����
�)
	 ��, � � �"�/, � ) ��, �Br ���/, � ) � �

"A� ��� �/z(� ��� ��, � ���"�/, � ) ��, ��j ���/, � ) � �

-f
�?�!6��r�,�� � � 2����4
��8LJ��p���=������*��2�!9���D��p7��=��IF����*,y-%=�56�(�C
$?�!6�I��=/�xQS�H��=���w$
�!62��I��p]��=��
�

" 
���
����������.p;���7��=/�E"������1"c�])����1"@�������P����p � 	�� � � t � 	�� v ,�� p^��=��A�*�������7��� � 	�� 56�.)B
�!9)*2�!6
$����'
)*��������)���!9LO��=��*����w$
�!92��*�l��=���2�!9'1?@�S)*!6�����%��� ��, ��? ��56��'�59)B
$���*�X����
�)
	 � F/������'4"���56�1
���LHw��������+|oz
� ��'g59��'�56)*
$������������
���' 
$��'��I?@�B
�� !956���Ap;�����_��=��(' 
$��
�? 
�����,



� ���

� � � � � � ����� ��� � � ��� � ��� � �	��

�

-%=���w��������+| � �A59�S
 	���LG" 
���
$�1�+���*�����I'�56�8��56�/:�2�56��=R���*
�!^j��~����
$)
	Jtuj � �(v.w��*����56)��*�Sp;����� ��
����
'���� )*���D?�56� 
W��56�����]��p � ����'�5 ���O2����/�]QS59��=R���B
���?PLG����
�)
	3�*z@
O"o�$���*�P��5V
�!9!9L�!V
���:�������2���)�����p
? 
�)
	3:�����2���' ,l-%=��A�*
���!956���X����2�'/LI���I��=�59�lw�
$��5V
$?�!6�]QS5M��=I������' 
$��
������]
���'�����
���' 
$��'Iw��*�8��� |
'��+���*���159� 
$��56���K��2�:�:��*�8���*'}
4"@�����A���*!95V
�?�59!65M� LG��p.
��Y��"/��59�159��
$��56���y2���56��:4
 �"!�#�$%# � ��&('	�

g���P���ys�
���!9�N��
$�1"�!9��z`
���'>)*����)*!92�'��*'>���>
N)*2/�\j�� � � � 
 )��/z`? 
�����' ����' 
$��
/,N-%=�59�D59�
)*!9�B
���!9L������S���*�8����59)���59w���
���'y= 
��%���4
�!9!o?�
�)
	3:�����2/��'y��� � ��)���56���y"@�xQ7�*�Ht;�����0�f56:�,�r�, )���v+,`-%=��
2����E��po��=�� �l?������*)C=/��5 �32���p;���.w��*�8���+|1)*
�!6)�2�!V
$��56���/�XQS59��=1
 �	�/&���� � 
g���P����s�
���!6�H��� ��2/56�����

��O2/"o' 
W���*'\w��*��5MF )B
W��56���O��p ��=/�%
�:����*�*���*�P�`?o�+� Q]���*� 
g���P����s�
���!6�E
���'\' 
$��
/,`-%=/56�`59�`'������
QS59��= 1 � ��=��0)*���P������!&��
���"�!9��,�-%=��D��2/�O?o���A�$pl'��*:����*������pXp;���*��'���� � ����� p;���S��=/�Dj�� � � �
56�%:�59w����g?PL �

� ����� � ) � 
 �>j ����9 ���'9 � � 9 � 3



QS=������ � 
%56����=��1�32��D?o���D��p7����
$)
	���z ���I59����=����32��O?@�*�D�$p]w��������+|c�*��z ���G59�(��=��4�32��D?o���
��pl"@��59�3�A)*����������
�59�3���*z � � 56�S��=/�D�32��O?@�*�A��pl�1
����A)*�����8����
�56�P���E
���' � 3%56�S��=/�D�32��O?@�*����p
)*���3w��*����56���Z)�����������
�59�P���*,D-%=��\�+|c"@�*)����*' � ����� p;���E��=���� �H=��*���\56��r�,0�`59:�, r�, )��G��=���QS�(p;���

Chi2_3_S
Entries  1915
Mean    6.717
RMS     5.646

 / ndf 2χ  42.44 / 45
Prob   0.5808
dof_1     0.6904± 13.23 
Norm_1    0.006063± 0.006714 
dof_2     0.0947± 4.349 
Norm_2    8.822± 169.1 
Bckgnd     0.66± 2.007 

2χ
0 5 10 15 20 25 30

0

20

40

60

80

100

120

140

160

180 Chi2_3_S
Entries  1915
Mean    6.717
RMS     5.646

 / ndf 2χ  42.44 / 45
Prob   0.5808
dof_1     0.6904± 13.23 
Norm_1    0.006063± 0.006714 
dof_2     0.0947± 4.349 
Norm_2    8.822± 169.1 
Bckgnd     0.66± 2.007 

Chi2_3_S

+ KΨ J/→+Pythia B

 with 4 d.o.f.2χBlue: 

dChi2_3_S
Entries  596
Mean    7.944
RMS     6.022

 / ndf 2χ  21.11 / 41
Prob   0.9957
dof_1     0.2626± 4.744 
Norm_1    6.462± 48.15 
dof_2     1.179± 12.28 
Norm_2    0.02537± 0.01462 
Bckgnd    0.2353± 1.258 

2χ
0 5 10 15 20 25 30

0

10

20

30

40

50

dChi2_3_S
Entries  596
Mean    7.944
RMS     6.022

 / ndf 2χ  21.11 / 41
Prob   0.9957
dof_1     0.2626± 4.744 
Norm_1    6.462± 48.15 
dof_2     1.179± 12.28 
Norm_2    0.02537± 0.01462 
Bckgnd    0.2353± 1.258 

dChi2_3_S
± KΨ J/→ ±data    B

tu
�v t;?ev

�`59:�2����Hr�, )��	� t�
Pv ��59������56?/2/��59���y��pl��=�� � � p;���A��=�� �	�/&���� � 
K���P���Is�
���!6�1��
���"�!6� 1 � �
� ��� ���`,l-%=/�H?/!62���)�2���w��H2/��'��*�����B
W��=y��=���F��S���*"����*�����P���S��=��(�+|c"@�*)+���*'g'�56�8����56?�2/��56��� ,%t�? v
-%=�����
�����p;��� 1 � ' 
W�C
/,X-%=/������!6�*)+��59���4��� �32�56���*��)*
���'�59' 
$���*�7QS5M��=���=����*�E����
�)
	3�]��= 
$��=�
�w��

�!9!m
 �%���I=/59�B,



� ���

��=/�R����p;��������)*�y'���)B
BL 1
� � � ��� ������=�� � �\'�59������56?/2/��59����)*���1" 
$��56������?@��� Q7�*��� 
g���3���
s�
���!6�Rt�
Pv]
��/'G' 
$��
Rt�?ev ,�� ���]?@����=4)B
����*�*z�
 � � QS5M��= � ����� � rO'����*�]�����%'�����)���56?@�EQ7�*!9!o��=/�
'�59������56?�2c��56�����*z^��56��)��4
Rp;2�����=��*�H�*��"�59��56)*
�! ��
�����59F )�5V
�! �G)*����"@�����*�P�H�����*'��H���K?o�1
�'�'���'[59�
����'��*�����IF/�S)*�������*)+��!ML4��=/��'�56�8����59?�2/��56������,X-%=�59�%56��'�59)B
$���*�]��= 
$�%��=��*���0
$����)�!V
������*�S��p&����
�)
	3�
p;���HQS=�56)C=���=��R�*���������O���[��=��R" 
���
��1�+�������O
$���G2��/'��*���*����56�1
$����'m,��A��Q7��w��*�*z7?o�$��= 
g���3���
s�
���!6�}
���'�' 
$�C
J�����*'���=��y��
����y)*��������)���59���mz]
���'�
�����"/��59�159��
$��56������� ��=�� � � w�
$��5V
$?�!6�
2���56��:\��=/� 1-3 
g���P���Ds�
$��!6�I��
��1"/!6��59�%"o������59?�!6�$,

� � � � ��� � � ��� ��� � ����� �3������� � � � � ��� � � ��� ��� ������� � ����� � �	� �


E�%��=���QS�y56�y�`59:�,3r�, )��/zc��=���56��" 
�)+�]" 
$��
��������*� � � ��p#��=/��)B
���'/56' 
$����56�]
O:����c'G)*
���'�59' 
$���
p;���y����!6��)���59��: ��=��T'���)B
BL ��56:�� 
�!~, � �KQ�
$�g2����*' w�56
>��=��})*��!9!656�/�B
���59� L�
���:�!9� t � �

�����
v4p;���K


"����*!659�159� 
��8L4���*����59��5Mw�59� LG���*���*,]-%=��H56��" 
�)+�S" 
���
��1�+�����A
$!6������59�S"o������59?�!9LG
��������(��2�59��
�?�!6�
)*2c�Ow$
���56
�?�!6��=���Q7��w����*z.��59��)*�G5M�O'����*�D�����\59�3w���!9w��*� � 	�� z�
���'[��=��R)*��!6!659���B
$��59� LJ
���:�!9�4)*2c�
)B
$�[?@�1��2�?�����59��2/����'�?PL}� Q7�N59��'��*"@�*�/'��*�P�O)�2/���0��� � � 
���' �������� � ���"!

,R-%=���2����1��p���=�� �l?��
����)C=���5 ��2/�G)B
���
�!6���Y?@�*���+F��O���K��=�� � � '�56��)*��56��56� 
$��56��:R"@��Q]���*, 
_����2�'/LZ56�0'������1���[��=/�
��������!92/��59�����$p � � 2���59��:[��=���1
� )����P������!A��
���"�!6�g
���'a)�����" 
�����'�QS59��=���=/�Y������2�!M���G�$p(

�	�/&���� ��
g���P����s�
���!6��,&-%=�59�.59��)*!92�'����7
�'���"o����'�����)*�A���\��=�� ��� ��=�59���l"o������59?�56!959��56�*�&p;���X��=/�
��=/���*�%����
�)
	3�*,l-%=/�-1 �y)*
���'�59' 
$���*�.
����%���*!9�*)����*'Ip;����� ��=��S' 
W�C
(
���' 
g���P���Es�
$��!6����
���"�!6���
2���56��:\��=/��)*2/����'/����������56����'y?3Lys ���>p;���%
\!659p;�+��59�1�A
�� 
�!ML���56� �kj����.t����*�(����)���59���K���G��=��(2����
��p&
O����p;�*���*��)��('��*)*
�L/v ,.-%=/��'�56�8����59?�2/��56���1��p^��=�� � � p;���.��=��E���*!9�*)+���*'y��56:�� 
$! ��w��*�P���S59�7��=/�*�
F������*'IQS59��=�

�(
�2�����56
��\p;2���)���56����
��/'���=��S���*����!62c��56���OQS56'/��=��

�

����%��?/��
�56����'gt�-f
�?�!6�$,�r�, �Pv+,


E��p;���A
�!6!^��=/�D)*���1" 
$��56����������pX��=�56�E
�� 
�!MLc��56��2���59��:G
1��56:�� 
�!^p;����� ��=��D'�
$�C
/zo
1���*)C=���5 �32��
��p���56'���? 
���'���2�?/����
�)+��59���a56���*��"�!9�xL��*'�����)*!9�B
�� ��=��g����!6�*)+��59���a��p�"@������56?/!6�K? 
�)
	3:�����2���'
)*���3��
���56� 
$��56��� ,&-%=/�*���S59��
���56:���59F )*
��P�l56��"����xw��*���*�P����pe��=/�%���*����!62c��56���\?3LD2���59��:���=�� �l?��
w��������+|Y)B
�!9)*2�!6
$��59���Y
$�A��"/"o�����*'N���1��=/�D����
���' 
$��'N?@�B
��b!956���(? 
����*'N���*)C=���5 �32���,-
E!9��=���2�:�=
��=/�Z:P
$56� 56�R���$�g��?3w�59��2��yp;���G��=�� � ���� � � ��� !

w$
���56
�?�!6�$z���=��})*!6�*
��y56��"�����w��*���*�P�yp;���G��=�� � �
������5Mw�
W���*����=��\2/���\��p���=/� ��? � ����)C=���5 ��2/��, �7�*)B
$2����\��=/�OF � 
�!X)�2/�(��"/��56��56��
$��59���g59�E'������



� ��


� ��'�t ��
$�C
�v � ��'[t 
Ns%v �l?�� t ��
$��
Pv �l?�� t 
Ns%v
j\����
�)
	3� j���, � � ��, j ) � , ��)��"�c, r � j �/,	� � ��, � )��/,�� )����/, j�

)O����
�)
	3� j ��, � ���/,	� j���, � ���"�c, ��� ) � ,�
����/, � )��/, ��r ���/,kr �
������
�)
	 j���, )�� ��,kr j���, r�j � ��, �Br )��/,	� � ��, � )��/, � � � ��, ��

�O����
�)
	 j �c, � �")c, � j�j/, )�)�� ��, ) � j�j/,	� �")c, j j �/,�� )�� ��, �Br
�/z 
�!9!���� j � , j �(j/,kr j��/, j$r � ��, r�� j �/, � �")c, r )��/, �Br � ��,kr �

-f
�?�!6�(r�, �	� ��������!92/��59���y��p`��=��(56��" 
�)+�S" 
���
$�1�+���*�0t �m�Gv]�$p`��=/�0���*)*����������2�)+���*' 1
�Z���*�����
p;����'�5 �o�*���*�P�A)B
����*����p`����
$)
	���QS59��=���� �1=/59����,S-%=��D' 
W�C
1��
���"�!6�()*����������"@����'��A���1��=��D"@���8�
s���- � ���*)*��w��*��L�,

QS59��=}
y��56:���
�!`p;�����q
 
g���P���1s�
���!6�y��
���"�!9��zm��=/�1
$:������*���*�P� 
g���P���4s�
���!6�GQS59��=T' 
$�C
R59�

�!9���I56��"o�����C
$�3�*, � �E59�Sp�
$56��!ML4"@�����%p;������=��H)B
$���0j���� �I=�59���S"o��������
�)
	eze?�2/�E
�)*)��*"/��
�?�!9�(p;���
��=/�H�$��=�����)*
������*z@
�!9���\������59!656)����R=�5M���%? 
����*'K'�56��)*��56��56� 
$��56���156�%�����C
$56����'m,

� � � � ��� � � �
� ������� � � � � � � ��� � � � � ��	 � ���[��������� ��� � �

�]��)B
�2����K��=��R����
�)
	��3F������*'�"���59�4
��8LZw��*�8���+|�
$!6!6��QS�Dp;���I
}�������4"�����)*56���g���B
$��2����*���*�P�I��p
��=/�R"���59�4
��8LZw��*�8���+|>)*������'�59� 
$���R
�!6����:Y��=/�R?o�*
�� !659����zX
�� 
�'�'�5M��56��� 
�!.)*��5M������56���[p;���O��=/�
���*
���)C=J�$pX��=�� 1�3 � � � ��� �['��*)*
BLY)*
��N?@�O
�"�"/!656��'m, � 59��=g��=/56��56��)����B
$���*'J"/���*)�56��56���mze��=/�

���:�!6�H?o�+� Q]���*�T��=��0�1�����*�P��2��b��pl��=��D���*)������8����2/)�����'T�1�������J
$��'N��=��0����)*����'�
���Lgw��*�8��� |
t�)+p�,(�`56:/,@r/, j ��v�)B
$�J?o�O2/���*'T
$��
�������=��*�Aw��*�8��� |J"@��56�P��59��:1���*)C=��/5 �32���,(-%=��\"/2���"@�����D56�A���
����!6��)��O�+w����3���O��= 
W�O
����1)�����56��:yp;����� 
K"�����)*59���4!9�c)*
$��59���T56�Z��" 
�)���,K-%=��4'/56������59?�2/��59���T��p
��=/� � 
$��:�!6�456�D"/���*'/56)����*' ?PL>
 �	�/&���� � 
K���P���Ks�
���!6�N���g���*�/' ���	�*������z�56�[)*���P����
����\���
��=/�G��2�������2/��'�56�/:N? 
�)
	3:�����2���' tu�f56:�,^r�, j �xv zX=�����)*�R����w��*
�!659��:J
Y"@�����*�P��56
�!�'�56��)*��59�159� 
$��56���
"@�xQ7�*��,y-%=��1w$
���5V
�?�!9���a56�H)*��������!V
$���*'Z���K��=�� � � z`
���'[
g)*2c�O��"/��56��56��
$��59���N"����c)��*'�2����459�
56'/�B
�!9!9LN��"o����
$���*'}���[���8��=���:���� 
�!fw�
$��5V
$?�!6���*, 
 :���56'T��"/��56��56��
$��59���N��p7��=���)*2/���0��� � � t 1Ov

���' � 56�D'������y
��/'>59�\59�0p;��2��/' ��= 
$�O��=��*���y
����4���T" 
���
$��59��56)�56�P������
�)+��59�����O?@��� Q7�*������=/�
� Q7� ��2�
��P��59��56���*,�
A"�"�!9L�59��:R
4)�2/�����Y��=�� � 
���:�!6�D����)*�\
$� � � )*2/��59�E'������O�1
�LK?���56��:G
��

�'�'/59��59��� 
�!o? 
�)
	3:�����2���'K��� � �*)���56���K?@�*���+F��B,



� � �

*

P

z

β

PVertex
d0

�f56:�2�����r�, j �	������F ��5M��59���R��p&��=��	��
$��:�!6��59�Kj�� �O,

angle_distS
Entries  217
Mean   0.2387
RMS    0.2193

(rad)
0 0.5 1 1.5 2 2.5 3

0

0.05

0.1

0.15

0.2

0.25

angle_distS
Entries  217
Mean   0.2387
RMS    0.2193

 angle distribution β

angle_dist_usb
Entries  1688
Mean   0.7267
RMS    0.4578
Underflow       0
Overflow        0
Integral       1

 regionσ2± MC signal cB

 data side bandcB

�`59:�2����Er�, j�� � ��59������56?�2c��56���4��p&��=��("@��56�P��56��:\
$��:�!6�Ap;������=�� �	�/&���� � 
g���3���0s�
���!9�\��
���"�!6�
1 �3 � � ��� � � t�'���QS�PQ�
$��'[?/!62��\����5V
��/:�!6���Cv�
���'Tp;���(' 
$��
[t;2�"PQ�
$��'[�1
�:����P�C
G����5V
���:�!6�*��v+z

�����2���56��:A' 
$��
A56�&�1
�56��!ML�? 
$)
	�:�����2��/'m, �f��56�P���`
����.�������4
�!95 ���*'(���E2/��59�`
����*
A59�D=�59������:���
��K,



� ���

� � � � ��� � � ��� ��� � �8� ��� �	� ��� �

-%=��(
�'/'�59��56���1��p#����Q ' 
W�C
O��
$�1"�!9�E
WpU���*�7��=��(s���- ����)*��w�����L�ze��=���59�3������'�2�)+��56���4��p&
O�������
��2/59�C
$?�!6�0!659p;�+��59�1�(w$
���56
�?�!6�Gt � ���� � ����� !

v+zm��=��O2������$p.��=�� �l?�� ���*)C=��/5 �32���
���'J5M����:P
$56�N59�J"������
)*59��59���[p;���H��=��G59�1"�
�)��0" 
���
��1�+�����*zl:�5Mw��G
N�����\�$pS����Q )*���/'�59��56�����0��2�5M�C
�?/!6�Ip;���D��=/�4F � 
�!
��"/��56��56��
$��59���G"����c)��*'�2�����zo
�!6���I2���59��:���=�� �����
� ��������=���'m,7-%=/�0w$
���56
�?�!9�*�%���+�C
�59���*'yp;���%��=/�
��"/��56��56��
$��59���G
����E��=/�H��56:��/59F )*
���)*���$p � 	�� z/��=/��"�56���G����
��/��w��������0�������*�P��2�� z/��=/��56��" 
�)��
" 
���
����������E��pl��=��O)*
���'�59' 
$���$zo��=�� � 
���:�!9��ze��=���� ���$pl��=��\j � �nw��*�����+|YF��(
���'N��=��D2/"�"o���
!659�15M�]���K��=��("�����"@�*�%'/�*)B
BLy!9�*��:���= ��.]��pf��=��()B
��/'�56' 
W����t����*�0�`56:/,/r�, j )�v ,

GeV/c
1.4 1.6 1.8 2 2.2 2.4 2.6 2.8 3 3.2 3.4

s
c

o
re

0.8

1

1.2

1.4

1.6

1.8

2

 cut (signal from BGen)t pπscore test of 

Cut at 1.8

2χ
6 8 10 12 14 16 18

s
c

o
re

1.4

1.5

1.6

1.7

1.8

1.9

2

2.1

 cut (signal from BGen)2χscore test of 3-D 

Cut at 9

xyLσ/xyL
3 4 5 6 7 8 9

s
c

o
re

0.8

1

1.2

1.4

1.6

1.8

2

 cut (signal from BGen)xyLσ/xyscore test of L

Cut at 4.4

Ip(B) (cm)
0.0020.0030.0040.0050.0060.0070.0080.0090.01

s
c

o
re

1.7

1.75

1.8

1.85

1.9

1.95

score test of Ip(B) cut (signal from BGen)

Cut at 0.0065

 (cm)τc
0.04 0.06 0.08 0.1 0.12 0.14 0.16

s
c

o
re

1.7

1.75

1.8

1.85

1.9

1.95

 cut (signal from BGen)tscore test of c

Cut at 0.075

 (rad)β
0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6

s
c

o
re

 t
e

s
t(

A
.U

.)

0

0.1

0.2

0.3

0.4

0.5

 stereo angle cut (signal from Pythia)βscore test of 

Cut at 0.4

�`59:�2�����r�, j ) ��s]2/�A��"/��56��56��
W��56���4��p&��=��(��5M|Gw$
���5V
�?/!6�*��p;������=��H
�� 
$!9L���59�%��p�1-3 � � ��� �l,



� � �

xy
Lσ/

xy
L

2 3 4 5 6 7 8 9 10

)
Σ

S
c

o
re

 (

0.5

1

1.5

2

2.5

3

 cut comparison of different lifetime samplesxyLσ/xyOptimimum L

 Mass 6.4 GeV/c cB

mµ = 191 τc

mµ = 138 τc

mµ = 83 τc

�`56:�2�����r�, j�j	� � 	�� ��56:���59F )*
���)��H)�2/����"/��56��56��
W��56���1p;���Sj\'�5�� �����*�P�-1�3.!65Mp;����59�1���*,

-%=�����������5M��59w�5M� LO56��� |/"/���*������'G56�\������������po��=�� + p;2��/)���59���mzP���(:�5Mw��%��=/��'/������)���56����"o�$���*�P��5V
�!
��p���=��4)�2/���Hp;���(��=��01�3 � � � ��� ��'��*)*
BL}QS5M��=Z���*��"o��)��O���g��=�� 1
� � � � ��� ����'/�*)B
BL�,
-%=�59��=���Q]�+w��*�056���/���H
��Z
�?�����!62/���O)*��59������56
G��56�/)*�I���+w��*��
�!l2���	3����QS���0�����4
�59�J��2�)C=Z
�����=/�
��
W��56� �Oze
$��'R��=��H
�����2���"/��59�����S��p 
g���P���0s�
���!6�I���c'���!6��,

-%=�� 
g���3���}s�
���!9��2����*' ���>��59�O2�!6
$���K��=�� 1�3I��56:�� 
$!E56� � ! # $�# � ��& ' � p;���R
�!9!A��=/�
w$
���56
�?�!9�*���+|c)��*"/�0p;������=��I��"/��56��56��
$��59���N���T��=�� � 
��/:�!6�O��= 
$�H56�(2���56��:g
 �	�/&���� � 
g���3���
s�
���!6��p;���X��=/������
�)
	��3F�������'4"���56�1
���L0w��*�8��� |1���*)C=��/5 �32���,l-%=/�A59�1" 
$)���" 
���
����������l56��2����*'G
$�

D"@��56�P��56��:H)*2/������!9L�59�1��=/��)B
����*�]QS=/�*������=�� �l?�� "���56�1
���L\w��*�����+|4F���p�
�59!6�Atu
�?@��2/��� �Iv.59�
��=/� 1 � '�
$�C
4��
���"�!6�$z@�$��=�����QS56���D��=/� � 
���:�!6�H56�E2/���*'J59�������B
�' , �]��)B
�2/���O��p`��=��O'/5 �o�*�����P�

g���P���Es�
$��!6����
���"�!6�$z���=�� � �A
W|c56�`p;���X��=��%��"/��56��56��
$��59���0���I��=�� �Y
$��:�!6�]'��c���l������59��'�56)*
$���
��=/�H��
���� + ��������5M��5Mwc5M� L�,

��
�)C=>��p]��=��G��5M| �32 
��P��59��59�*�0"��������*�P���I
��[��"c��56�1
�!l)�2/�Ow$
�!62/����= 
$�0�4
W|c59�159���*����=�� +
p;2���)+��59���m,�-&�1w��*��5MpULy��=��H��L������*�1
$��59)0���������A���g��=/�0)�2/�Ew$
�!92���p;������=�� �������� ����� !

w$
���5V
�?�!9��z/� Q7�



� ���

����=��*����"/��59�159��
$��56�����S
$���O'������O2���56��: 
K���P����s�
���!6�4��
���"�!6���AQS59��=N'�5�� �����*�P�(
$����2/�1"/��56���/�
���T��=��I"�����"@�*�('��*)*
BLZ!9�*��:$��=T��p 1-3\t � j � �q
���' � � � �m�4vE
��H��=���QS�[59�}�`56:�, r�, j�j/,I-%=��
?����B
�	3'���QS�{��p0����)�56�*�/)�L 
���' ? 
�)
	3:�����2���' ��� � ��)���56��� p;���y�B
�)C= )*2/������� "�� 59�R��=���QS�{59�
-f
�?�!6��r/, 
c,


Ns ���P����59�*� � ' 
$�C
\���3����59�*� �

j�� � � � r � � � � �/,�� � 
�� ) r � , r �
� � j�j�
�
 ��
c,�� � r � � � �/, � �
� ���� �����


 � j � r*)c, � � � � ��j � ���/, 
 �
�
	
� � ) � � � )c, j � j ��r�j � )c,�� �
��. j�j�j � � � ,�
 � r�� � r�, � �
� � � j�� ��j � )c,�
 � ����� j��/, r �

j�� � ��
��/:�!6� ��� � � �c,kr � 
�� � r � , � �

-f
�?�!6�Dr�, 
 � 
g���P����s�
���!9�G����)*59�*��)+L t � v�p;�����*
�)C=T)*2/�(
$��'T? 
�)
	3:�����2���'T��� � �*)���56���J"@��Q]���
t���vH)B
�!9)*2�!6
$����'Zp;����� ' 
W�C
/, � ��)*59�*��)+L � 
��/'>��� � ��)���56����"@��Q]���
�}
����4)B
�!9)*2�!6
$����'>
�� � �

� ���� � � ���� z�� � � � � ��� � �� � � ��� � �� z#QS=������ � � 59�(��=�����2/�O?o���0�$p�)B
$��'�56'�
$�����0" 
$����59��:g
�!6!
)*2c���7
���' � � 56�l��=����32��O?@�*�.��po)B
���'/56' 
$���*�." 
�����56�/:D
�!9!���=��S����=��*�.)*2c���.?o�+p;������
�"�"/!9L�56��:(��=/�
0 ��� )*2c�B, � ���� � j ) ��j456�Y)B
������$p �"!�#�$�# � � & '	� 
NsEz � ���� � � � �\59�N)B
$���\��p � �/&���� �
��
$�1"�!9�(
���' � ��� � �� � j
��j/,

� � � � ��� � � ����� ��� ��� � � � � � ��	 � � � � ��� � � � � � � � �

� �\��=���w��*�8���+|c59��:0"/����)*�*'/2����$z3��=�����=/56��'O����
�)
	056�`�����*
$����'�'/5 �o�*�����P��!9L0p;����� ��=/�%�O2����\����
�)
	3�
?@�*)B
$2�����5M�&56�&�����f�4
���� � )*�����8����
�56����'mz$
���'D��=��.w��*�8���+|Oj�� � � �X= 
��f)*���P����56?/2/��59�����^p;�����{��=������
���������*z@�����Hp;���A�*
�)C=N����
�)
	 � � � � � �xt � �8v 9 � �Wt � � v 9 � �xt �&v ,-
n����2�'/Lg56��'������02���59��:4��=/�
1
�[)����P������!f��
���"�!6�(QS=��*���O59��59�E��� �32�56���*'Y��= 
$����=�� ���Z)*���P����56?�2c��56���K���4��=�� � ��56����pl��=/�
��
$�1�I����'��*�(���(!6�����()*���1" 
$���*'T���y��=/� � )*���3����59?�2/��59���mz&
��H
 ��2�
�!65M� LN��� �32�56���*���*�P�D�$p]��=/�
��=/56��'J����
�)
	YF/�B, � 59��=T��=��\)*2c���H��p7��=��1s ��� 1
� !959p;�+��56���0
�� 
�!MLc��56� � j�� �uz^��=�59�(
�'�'�5M��56��� 
�!



� � )

��� �32�56���*���*�P�G�����C
$56��� )�� ) � ��p���=/��)��$r �Z56�/59��56
�! 1
� ��56:�� 
�!S��w��*�P���R59����=/�N' 
$��
Z�������*
��gz
56�/'�56)*
$��59��:G��= 
W� )�� � ��p]��=�����56:�� 
�!X= 
$�H��=��1=/56:�=������Dj�� � � � )����P����59?�2/��56���T)*���159��:Rp;�����
��=/�A��=/56��'�����
�)
	gt��������`59:�,Pr�, j�r3v+,f-%=�56�756�.)*���cF �����*'G59�1��=�� 
g���3����s�
���!6�0��
���"�!6�$z�
���'G= 
$�
���K?@�1)����1"�
�����'}��� ��� �bp;������=���? 
�)
	3:�����2���'�"@��"�2/!V
$��56���m,I-%=�59�0'/5 �o�*������)*� � 2��8��59F��*�0
��
��"/��56��56��
$��59���4���g
\)*2/����p&��=/� �})����P����59?�2/��56���R���\��=�� � �Dtu�f56:�,cr�, j���v+,

-%=������K56�I
J)*!9�B
��\)��������*!V
W��56����QS59��=>��=��R������
�! � � z]
$��'�
$� ��"/��59�159��
$��56������� ��=��Kj�� � � �

Entries  5690
Mean    5.297
RMS    0.07394

 / ndf 2χ  145.4 / 89

Prob   0.0001515
Candidates  57.39±  2540 
Mass      0.000269± 5.279 

Width     0.0002698± 0.01145 
Fract.    0.006806± 0.9607 

 2 σ  0.00598± 0.05504 

 peak ndN 2  29.12± 30.06 

 peak nd2  0.01987±  5.33 

 peak nd 2σ  0.02377± 0.02761 

Slope     6.883e-09± 4.087e-09 

Background  7.419± 9.507 

)2Mass (GeV/c
5.15 5.2 5.25 5.3 5.35 5.4 5.45 5.5 5.55 5.6 5.65

2
E

ve
n

ts
 in

 5
 M

eV
/c

0

100

200

300

400

500
Entries  5690
Mean    5.297
RMS    0.07394

 / ndf 2χ  145.4 / 89

Prob   0.0001515
Candidates  57.39±  2540 
Mass      0.000269± 5.279 

Width     0.0002698± 0.01145 
Fract.    0.006806± 0.9607 

 2 σ  0.00598± 0.05504 

 peak ndN 2  29.12± 30.06 

 peak nd2  0.01987±  5.33 

 peak nd 2σ  0.02377± 0.02761 

Slope     6.883e-09± 4.087e-09 

Background  7.419± 9.507 

 K DataΨ to J/±B -1
350 pb

Entries  4286
Mean    5.294
RMS    0.06859
Underflow    1569
Overflow       82

Integral    2635

 / ndf 2χ    121 / 87
Prob   0.009309
Candidates  49.88±  2028 
Mass      0.0002976± 5.279 
Width     0.0002914± 0.01171 
Fract.    0.005589± 0.9614 

 2 σ  0.007945± 0.06001 

 peak ndN 2  167.4± -110.1 

 peak nd2  0.01075±  5.35 

 peak nd 2σ  0.1212± 0.1528 

Slope     2.316e-09± 1.416e-09 
Background  2.471±  5.39 

2Mass (GeV/c
5.15 5.2 5.25 5.3 5.35 5.4 5.45 5.5 5.55 5.6 5.65
0

50

100

150

200

250

300

350 Entries  4286
Mean    5.294
RMS    0.06859
Underflow    1569
Overflow       82

Integral    2635

 / ndf 2χ    121 / 87
Prob   0.009309
Candidates  49.88±  2028 
Mass      0.0002976± 5.279 
Width     0.0002914± 0.01171 
Fract.    0.005589± 0.9614 

 2 σ  0.007945± 0.06001 

 peak ndN 2  167.4± -110.1 

 peak nd2  0.01075±  5.35 

 peak nd 2σ  0.1212± 0.1528 

Slope     2.316e-09± 1.416e-09 
Background  2.471±  5.39 

Entries  4286
Mean    5.294
RMS    0.06859
Underflow    1569
Overflow       82

Integral    2635

 / ndf 2χ    121 / 87
Prob   0.009309
Candidates  49.88±  2028 
Mass      0.0002976± 5.279 
Width     0.0002914± 0.01171 
Fract.    0.005589± 0.9614 

 2 σ  0.007945± 0.06001 

 peak ndN 2  167.4± -110.1 

 peak nd2  0.01075±  5.35 

 peak nd 2σ  0.1212± 0.1528 

Slope     2.316e-09± 1.416e-09 
Background  2.471±  5.39 

2χMass rejecting cand if K worst 

tu
�v t;?ev
�`59:�2����Jr/, j�r	� 
Y
����y"o�*
�	a��p0��=�� 1 � 2���59��:>��=��T�8�C
���'�
���' )*2/����t�
PvG
���' 
�'�'/56��:>��=/�
����!6��)���59��� � � � 
 � �

����� �
t�?ev ,�)�� � �$pX��=�� 1
�T��59:�� 
�!^�+w��*�P����
����H�����1��w��*'mzo
���' ��� � p;���S��=/�

? 
�)
	3:�����2���' ,

2χ
1 2 3 4 5 6 7 8

S
co

re

1.5

1.6

1.7

1.8

1.9

2

2.1

2.2

 cut (signal from MC)2χ πScore of 

Cut at 2.6

�`59:�2����\r/, j�� � ��"/��59�159��
$��56���Y��p]��=��1)����P����56?�2/��56���T��p7��=�� �����K��=��1j�� � � � QS59��=[
$!6!X��=/�
����=��*� 1�3.��"/��56��56����'R)*2/����
�"�"�!956�*' ,



� �Bj

"@�*��p;�������*'R���+�����P
�)���59w��*!9L1QS=�56!9�E59��)*!92�'�56�/:\
O)*2/����2�)C=K��= 
$� � �Wt �&v 
 )
�
�O'����*�%������:�59w��(
��

��"/��56�O2/� w$
�!62/�(p;������=��0j�� � � � 
$�3L��������$ze?o��)B
�2����0�$p`��=/�D
�!9���*
�'/LG'/56��)���59�159� 
$��5Mw���"@��Q]���
��p7��=�� �����*���K, � 56��)��4
��Z��"/��56�1
�!fw$
�!92��\p;���H��=�� � � � )����P����56?�2/��56���}56�(�8��56!9!Xp;��2���'}��w��*�
QS59��= 
Jj�� � � � )*2/��
W� �J
�"�"�!956��'mzX��=������R59�\
�� 56��'/56)B
W��56���[��pA
�� 56�/)*���*
�����' ? 
�)
	3:�����2���'
�����1��w$
�!m)*
�" 
�?/56!65M� L1p;������=�� � � �A)����P����59?�2/��56���m,

-%=��OF�� 
�!`!956�8����pl��=�� �32 
��P��5M��59�*�EQS5M��=Y��=��*59��
������c)�5V
$���*'J)�2/��w$
�!62/�*�Ep;������=��D���B
$��)C=T��p
��=/� 1-37'���)B
BLy56�%:�59w����g59�R�C
�?�!9��r�, � ,

� 2 
��P��59� L ��"/��59�159���*'Gw$
�!92�����pf)*2/�

'�59�O2����y�1
�����QS59��'���Q j �
��
 � ��� 
g���
� � ��pfw��*�8���+|KF�� 
 �

�
�

� .(t;2�"�"@�*�Cv 
 
���� �m�
	

�
��p ��� � �

�
� �������$)

� 	�� � � t � 	�� v �ar
�
r

� � t 1\v 
 ��� � 2

��
���:�!6� 
 �
�
r

j$��'y����
$)
	G)*����"@�����*�P� � �A�$pfw��*�����+|yF�� 
 )
�
�

-`
$?�!6��r�, � � �.
�!92��*�%�$pX)*2c���S���K"�=PLc��56)*
�! �32 
��P��5M��56���*,



� �*r

����� � ��� � ���	��
 �
����� ��� � �

-%=��1!V
���:��I2���)*������
�56�P��59�*�0�+|c56�8��56�/:Y2�"}���Y�/�xQ ���[��=��01�3��1
����O
���'Z!65Mp;����59�1�D���*��2�!9�D56�Z

��
$��:��\��p.��=��I"@�������P��5V
$!fp;����'��+����)���59���}:�59w��*�J��=��I��"c��56��56���*'N)�2/����,I-%=�56�����*)���56���}"����*�����P���
��=/�Aw$
���56
$��59���\��pm��=��E� |c"o��)�����'R��������5M��59w�5M� L�
���'G
H�1�+��=���'1p;���759�3���*��"����+��56�/:H��=��E' 
W�C
/z3����)��
��=/�H)�2/���S��pf��=��H
���
�!9L���59��= 
Bw��H?@�*�*�Y
�"�"�!956��'m,

� � � � � � � � � � ��� � � � � � ��� ��� ��� �

-%=��(�32��O?@�*�S��p 1 � ��59:�� 
�!m�+w����3���Ap;������=��()*���P������!m'/�*)B
BLy59�%'������*����56�/�*'y?PLy
�"�"�!ML�56��:\��=/�

�� 
$!9L���59�7)�2/������"/��59�159���*'Ip;���.��=���1�3X���*
���)C=Zt;-`
�?/!6��,3r�, � v zc���1��=��A�*�P��59���E'�
$�C
D��
���"�!6�Dtuj ���
"�? � � v ,y-%=��42�"/"o��� � .()*2/�D56�H�����D
�"�"�!956�*' zf��56��)��G
g���*�8����59)���56���[
$� 
 ��� �m� Q7��2�!9'>
 �o�*)+�
��=/� 1 � ��w��*�P�����*!6��)���56���[t � .�t 1 � v%
�����2���' ��� � �m�4v+, � �Y"���56��)�56"�!9��z �+|/
�)+��!MLR��=��H��
����()*2/���
= 
Bw������\?o��
$"�"�!659�*'mzc=���Q]�+w����S��=�������!V
$��59w��*!9L����4
�!9!o��� ��)��S��p#��=�� ��..)�2/�S���G��=/��1�3���
���"�!6�
t�r/, � �Ivl
�!9!6��QS�lp;���������.2���59��:0��=�56��)�2/��t;)�p�,X-f
�?�!9��,3r�,�
�v+,f-%=��E���*��2�!9��56��:(�1
����."�!6�$��56�.��=���QS�
56�g�`59:1r�, j �/z�QS5M��=�� =�� � t )�j�
 � � ��
�v%)B
$��'�56'�
$������p;��2/��'mzeQS=�56!9�(��=��H��
����D
$� 
�!9L���56�S)*2/���

�"�"/!656��'4���I
 1
� 
g���P���Hs�
$��!6�D��
���"�!6�E:�59w�� �
������� )�� �0�����4
$56��59��: 1
�N)*
���'�59' 
$���*�%��2/�]��p

�`59:�2����\r/, j � � 
g
����0'�56�8����59?�2/��56���Np;���"1
� )B
$��'�56'�
$�����Gt;' 
$�C
czfj�� �K"/?�� � v�2���59��:y��=���)*2/���
p;������=��"1�37���B
���)C=mze�+|c)*��"/�E��=��(2�"�"@�*� � .])�2/�B, )�j�
 � )*
���'�59' 
$���*��
�����p;��2���'m,



� � �

��=/�")�� � ���S56��5M��5V
$!6!9LD:��*�/�*��
W���*'[t����*�H�`59:�,cr/, j�
Rt�
Pv�v ,�
 F��%QS5M��=G��=/���*�
�(
�2�����5V
$�Gp;2���)���56���/�
56�%'/���������I'��+���*���159��� � = � 59�Ztu�`59:\r�, j��Pv+z����I'��*��)*��56?@�(��=��()*���3����
�!#"@�B
�	ez���=���? 
����0��p&��=/�
)*���P����
$!^"o�*
�	R
���'y��=/�Ds�
$?�?�56?@�I��2�"/"�����������'N'���)B
BL 1 � � � ��� � � ,

-%=���
g���P���Is�
$��!6������)�56�*�/)�LYp;������=�� 1�3%��56:���
�!#56��)B
�!9)*2�!6
$����'Y?PLg
�"�"�!MLc59��:1��=��D��
����

�� 
$!9L���59�H)�2/����zX!6�*
Bwc59��: )�� � 
�� ��jy)B
��/'�56' 
W���*�H��2/�0��p���=�� � ���D:��*������
$���*' t��`56:�,^r/, j�
}t�? v�v+,
-%=�59��:�59w����%��=��(����!V
$��59w�������)*59�*��)+L��

�
?o�+� Q]���*�Y��=���� Q]� 
g���P���Os�
���!6�\��
��1"/!6�*� �

�
�
�
� 3
���

�
)�� � 
 � ��j���� � �

��������� )��
� � )
�
� � �

� t �
�
� � ��� �

�
� � 
�v


���'g
��y�+|c"@�*)+���*'Y��2/�O?o���S��p�1-37�+w��*�P��� �

� =
�
� �

�
� = � � � �

�
� � ��� )�j�
 � � �

�
� � � � � �

�
�

-%=��I���*��2/!9����p���=��\)*2/���(���N��=��\?/!656�/'N�4
$������"@�*)+����2�� 56�E��=���QS�}56�T�`59:�,or/, j � z QS=��*���
��=/�1j�� �R)B
���'/56' 
$���*�0
����\"�
�����59��59������'}59�P���R� Q]�K?�59���*,I-%=���!6��Q7�*�("o��"�2�!V
W��56���Np;������=���?�59�
��p7�4
$����?@�*!6��Q �/, r �������$)
	H56��)�������59�����*�P�(QS59��=J��=��I' 
$�C
R59��)*!92�'�56�/:R��w����P���0
���59��56�/:Gp;�����
" 
��8��56
�!6!MLO����)*���/������2�)����*'y'���)B
BL��*z�QS=�59!6�A
�?o��w��E��=�������59� � 2/���%
0)*���O?/56� 
$������56
�! ? 
�)
	3:�����2���' ,

MassCutKChi
Entries  11549
Mean    5.279
RMS    0.01715

 / ndf 2χ  33.83 / 15
Prob   0.003602
Candidates  210.1±  9950 
Mass      0.0001102± 5.278 
Width     0.0002492± 0.00954 
Fraction in peak  0.02659± 0.8719 

 peak nd 2σ  0.001136± 0.01976 

)2(GeV/c
5.2 5.25 5.3 5.35 5.4 5.45 5.5

0

200

400

600

800

1000

1200

1400

1600

1800

2000

2200

MassCutKChi
Entries  11549
Mean    5.279
RMS    0.01715

 / ndf 2χ  33.83 / 15
Prob   0.003602
Candidates  210.1±  9950 
Mass      0.0001102± 5.278 
Width     0.0002492± 0.00954 
Fraction in peak  0.02659± 0.8719 

 peak nd 2σ  0.001136± 0.01976 

 K m535 BGenψ J/→±B
MassCutPiChi

Entries  3303
Mean    6.393
RMS    0.03535

 / ndf 2χ  67.74 / 35
Prob   0.0007425
Candidates   62.9±  2917 
Mass      0.0003228± 6.391 
Width     0.0003773± 0.01568 
Fraction in peak  0.008891± 0.9622 

 peak nd 2σ  0.009797± 0.06056 

)2(GeV/c
6.2 6.3 6.4 6.5 6.6 6.7

0

50

100

150

200

250

300

350

400

MassCutPiChi
Entries  3303
Mean    6.393
RMS    0.03535

 / ndf 2χ  67.74 / 35
Prob   0.0007425
Candidates   62.9±  2917 
Mass      0.0003228± 6.391 
Width     0.0003773± 0.01568 
Fraction in peak  0.008891± 0.9622 

 peak nd 2σ  0.009797± 0.06056 

 MC (BGen m522)π ψ J/→ cB

tu
�v t;?ev

�`59:�2����Ar�, j�
 � 
g
����%"@�B
�	3�S��p#��=/� 1
� tu
Pv7
���'R��=���1-3Et;?ev7��?c�C
�59���*'GQS5M��= �"!�#�$%# � ��&('	�

g���P���Ns�
���!6�T��
$�1"�!9�*�I2���56��:T��=�� 1�30��"/��56��56����' )*2/���*,�-%=/56�I:�59w��*�I��=��y"����*'�59)����*'��1
����
��������!92/��59���y
���'y��=/�H���*!6
$��5Mw�������)�56�*�/)�L�,



� � �

)2 Mass (GeV/cπµµ
5.6 5.8 6 6.2 6.4 6.6 6.8 7 7.2

2
C

an
di

da
te

s 
in

 8
00

 M
eV

/c

0

50

100

150

200

250

-1CDF Run II Preliminary                      360 pb

+π ψ J/→ cB
390 candidates

blind box

�`59:�2����.r�, j � � �]!659��'���'D�1
����X���*:�59���0QS5M��=D��=�� 1�3#��"c��56��56���*'H)*2/����
�"�"�!956��'m,`j�� �E)B
$��'�56'�
$�����

����H���*�1
�56�/56��:Dp;����� ��=��Hj � �\"�?�� � ' 
$��
\��
���"�!6�$,

s]���/��56'/�*��59��:Z
�!6!]��=��y)B
��/'�56' 
W���*����p���=��K?�!956��' ����:�56����
$��?�
�)
	3:�����2/��'mz]��=��g�32��D?o���
��p0? 
�)
	3:�����2���' ��w��*�P��� 1 59� 
 �")�� ����:�56��� )��*�P�������*' 
�����2���' 
>������56� 
�!A��59:�� 
�!��1
����

 � �c, r �����	�W)
	�56� �

1 � � = � � � � j
� � �Nj
�

�
 �

QS=��������J56�.��=������*����!62/��56���1��p#��=��E�4
��������B
���2������1���3�*,l-%=�56�]:�59w��*��� �D?�
�)
	3:�����2/��'y��w����P���
p;��� � �("����*'�59)����*'K��56:�� 
�!m�+w��*�P���*z

� � � � � � ��� � � ��� � ������� � �
� �

-%=��%"����c)��*'�2/���%p;���f��=��%56�P���*��"/������
$��59���O��pe��=��%������2�!M�l56�l
$�\56��"o���8�C
��P�`" 
����X��pe��=��S
���
�!9L���59�*,

ApU���*�H2��3?�!659��'�59��:R��=�� � ��, ��� 
c, ) � �(���	�$) 	O����:�56���TQS5M��=}��=��1
�� 
�!ML���56�()�2/���D
�"�"�!956�*' zf
yF � 
�!
F��%��=���2�!9'R?o�E'����������G��=���"@������56?�!9�E��56:�� 
$!~z3��59�159!V
���!9LO���D��=���)*
����E��p#��=�� 1 � � � � ��� � �
'���)B
BLy��=���QS�g56�y�`59:�,/r�, j �/zc���I'������*���159������=��(�32��O?@�*�S��p 1�3.��w��*�P���E
���'R��=��(�1
����S��p&��=/�
���*�����mz 59p&��=��(��56:�� 
$!m56��p;��2/��'m,.-%=��(���B
$��)C=N��p&��=/�H��56:���
�!m56�S? 
$���*'K���g
����*��56�(��p&F����%QS59��=

gp;2��/)���59���[QS=������R� 
$��2����456�O
g�4
$�������D��pS59�3w��*�8��56:�
$��59���mzX
$��'>'��*"@�*�/'��*�P�I������=��4F�����56�/:



� � 


��
$��:���,���
�����'I���\��=�59�`F�����56��:�"/����)*�*'/2����$zc
�)���59���*��56���D�����*�8�C
�?�!956��=I��=��%"����*������)*����po
���59:�� 
�!
= 
��%����?@�('������*���159���*'y?@��p;�����(��=��H
�� 
�!ML���56�%�$pf��=��(' 
$�C
c,

-%=��(������=��c'R)C=/�������K�������B
���)C=Kp;���%
O��59:�� 
�!o56�%'����/��?3L42���59��:�
O��)*
��KQS5M��=y
 ����!659'�56��:
QS56�/'���Q �}�$p�QS59'/��= j�� � 
g�����$)
	�z���2�����59��:Np;����� ��=/�R!6��Q �*��' ��pS��=��R?/!656�/'�����:�56��� t��c, �
�����	�W)
	+vA���y5M����2�"/"o���H����'�t�
c, � �(���	�$) 	+vDz^56�T�����*"��(��p-� � 
g�����$)
	�, ��2/��56�/:y
y��)B
�� zf
W�
�B
$)C= �8����">��p%��=��4��!659'�56�/:gQS56�/'���Q(z�
gF��\59�D"@�*��p;�������*'�� � ��� � " ��� ��� � "  � ��� ��� � � � "
	 ���

2���56��:(
���2�59��
�?�!6�.p;2���)+��56���m, 
a'/�*)B
BL\��56:���
�!c59�X56'/�B
�!9!9L('�����)*��56?@�*'I?PL\
 �]���*5M� �
� 59:������`'�59������5 �
?�2/��56��� z�?�2/�l��=�����������!92/��59���\56�f:���w���������'1?PLO��=���'��+���*)+������
$��'\��=��%���*��2/!9��59��:�'�59������56?/2/��59���D59�

 �H
$2�����5V
��m,l-%=/�(F/����59��:\p;2���)+��56���G��=32���56��)�!62�'����S
 �H
�2/����56
��RQS59��=y��=������(" 
���
$�1�+���*���Ht �Xz
�Xz 
$�1"�!959��2�'���v.56�y����'/�*�����I'�����)���56?@����=��(��56:�� 
$!~,X-%=�59�S:�59w��*�%��=��(�32��O?@�*�S��pf��59:�� 
�! ��w����P���
) p;��2���'J59�N��=��O"@�B
�	@,H-%=��\F����1
�	$�*��2����\��p���=��D�����C
$!fQS56'c��=J��p���=/�\��!659'�56�/:1QS56�/'���Q ���
�*�8��59�4
$������=���? 
�)
	3:�����2���' zc��56��)��S��=������*!9��w$
��P�.56�/p;�����1
$��59���O56�X��=���"o������59?�!6�%"����*���*��)��E��pm
��
�+|c)��*���(
W��
1��"o��)*5MF )O!6��)B
W��56���yQS5M��=g���*��"o��)������4��=/�D56�����*'�56
$������2�������2���'�59��:���,E-%=��0? 
�)
	 �
:�����2���'�56�����c'���!6��'�QS5M��=1
H!956���*
��Xp;2���)+��56���1� |c���*��'/56��:0?o����=1��56'����7�$p ��=/�A��56:�� 
$! �H
$2�����5V
��mz
���g��= 
$�H��=/�Gj � � 
g���	�$) 	OQS56'�����!956'�59��:KQS59��'���Qd59�0'�5Mw�56'���'[56�P���g� Q7�N" 
��8���*,y-%=��4!656�/�B
��
p;2���)+��59�����/�����1
�!659����'���� �Hj � 2��/'��*�I��=�� �(
�2�����5V
�� "@�B
�	�)��*�P��������' 
$� � "/����w�56'����1��=/�
? 
�)
	3:�����2���' 14z/p;���%������56�1
$��59��:�+E,

��2���56��:(
���)B
��mzPp;���l�*
�)C=IF���"o����p;�����1��'�
$��
������*"���po��=��%��!956'�59��:EQS59��'���Q(z�
(���*����59��59w�59� L
+ 59�%)B
�!9)*2�!6
$����'y2���59��:\��=���p;��2��/'g" 
$��
��������*��� ) 
���' 1 �

+ �
)

�
�
�:9 * 1

-%=�59�759����=��Sp;2���)���56����'��+���*���159���*'1?PL �I, �l2�� ��5 � r � �u,�
A!9��=/��2�:�=�59�.56��'�����59:����*'����0��"/��59�159���
��=/�0)�2/����QS59��=g
4j �[?�
�)
	3:�����2/��'N��� � �*)+��56���Y!6�+w���!~z���=/�D)C=���59)*�H��p`��=�56�S" 
$����59)*2�!6
���p;2���)+��59���
p;���%��)B
����/56��:�"�2���"o�����(56�%�����1�+QS= 
$�A
���?/59����
���L�,


 �8�C
$��56����56)*
�!.���*�8�����J�*�8�C
�?�!956��=���=��R"����*���*��)��g��pS��=��R��59:�� 
�!756�O�����*'���'m, � �I59�O? 
����*'
���R��=/�H������=���'R'��*��)*��59?o��'g?PL �S��! 	��(
���' �^��"@� � � ��� �uz/QS=�59)C=g)�������59���������y���*�8��56�/:I��=����32�!6!
=PL�"o����=��*��56����p`
I��56:���
�!m"����*������)*�$,�� ������=�56�%"����*���*�P��
$� 
�!9L���56�*zc��=�59�%56�%'����/�H?PLy"@�*�8p;������56��:
��=/�K��)B
�� QS59��= ��=��y��!956'�59��:NQS56��'/�xQ_��� ��
���"�!9�*�I:��*�/�*��
W���*' 2���56��:}
 
g���P���gs�
���!6�J��= 
W�



� � �

���c'���!6�4��=��T?�!659��' ����:�56��� � �c, �/z�
c, )�� �(���	�$) 	Bz � � ��� � � � ��� ���
� � � ��"(& � ��� ��� � ���! #" ��� zE
$��'
'��+F ��56�/:4
\��=����*��=���!6'K���R��=/�0���*����59��5Mw�59� LR? 
$���*'K���y��=��H!65 	���!656=/�c��'4��pX
�)C=�
���)*�H��)*)*2/��
���)��
��p`
\"o�*
�	e,

-%=�59�O������=/�c'Z��� �32�59�����D��=��4'��*��)*��59"/��59���[�$p%��=��G?�
�)
	3:�����2/��'>56�}��=��G���P��56���4?�!956��'Z�����
:�59���m,�� �����+|/
�)�����= 
�"@�\56�A2���	3����QS�mz&
���'N��=��O?�!956��'Y���*:�56���N)*
��J����!MLK?o�DF/������'JQS=��*�J��=/�
' 
$��
�QS59!6!^?@�O
�� 
$!9L�����'mz 
$��'Y���G�������0
�����2��1"c��56�����A���Y��=��H? 
�)
	3:�����2���'J)�����"o����59��56���K
����
�����*'���'m,(-f�G����'��*!#w$
���59��2��E?�
�)
	3:�����2/��'T)*����"o�����*�P����z ��=/� � ! # $�# � ��& ' � 
g���P���\s�
���!9�
56�D2�����' ���J��56�D2�!V
$���4" 
$����56
�!6!MLT����)*�����8����2�)����*' )*���P����56?�2c��56�����*,}-%=�56�\59�O'�����)*��56?@�*'>QS59��= 

?����P
�' �(
�2�����5V
$�Yp;2���)+��56���J
$�E��=��O!9�xQ ����'J��pl��=��O�1
�������"o��)�����2�� ��2�"@�*��"o�����*'T���T
12���5 �
p;�����n? 
$)
	�:�����2��/'m,��`56:Er�, j�����=���QS�.
��I�+|/
���"�!6�]��pe��=��%���c'/�*!659��:E�$p@��=��%?�!956��'\���*:�59���DQS59��=
'�5�� �����*�P�]? 
�)
	3:�����2���'R)*���1"@�������3���(t�"�
�����5V
�!9!9LO���*)�����������2�)+����'K'/�*)B
BL��*z )����O?�59� 
$������56
�!Uv z�56���
)*!92�'�59��:I
�!6����
I��56:���
�!m'���)B
BL�,

FinalMass
Entries  162
Mean    6.037
RMS    0.2743

5.6 5.8 6 6.2 6.4 6.6 6.8 7 7.2
0

1

2

3

4

5

6

7

8

9

FinalMass
Entries  162
Mean    6.037
RMS    0.2743

BGen MC bg
Entries  160
Mean    6.373
RMS    0.4511

5.6 5.8 6 6.2 6.4 6.6 6.8 7 7.20

1

2

3

4

5

6

7

8

9

bg
Entries  160
Mean    6.373
RMS    0.4511

background (Uniform, toy MC) 

total
Entries  322
Mean    6.204
RMS    0.4087

5.6 5.8 6 6.2 6.4 6.6 6.8 7 7.2
0

1

2

3

4

5

6

7

8

9

total
Entries  322
Mean    6.204
RMS    0.4087

Signal+background bin2total
Entries  322
Mean    6.209
RMS    0.4023

5.6 5.8 6 6.2 6.4 6.6 6.8 7 7.2
0

20

40

60

80

100

120

140

160

180

200

220

240

bin2total
Entries  322
Mean    6.209
RMS    0.4023

Signal+background

�`59:�2����Tr�, j
�	� �"!�#�$%# � ��&('	� 
K���P���>s�
$��!6� �1
����K��"@�*)+����2�� ��pO��56:�� 
$!(
���' "/=3L���56)B
$!
? 
�)
	3:�����2���'�tU����"mzo!6�+pU� v��o2���5Mp;�����b? 
�)
	3:�����2���'�tU����"mzo��59:�=P� v��o��2�� ��pl��=/�D� Q]�R=/56������:���
��1�
t�?@���������Kz/!9��pU� v�
$��'y���*��2�!9��56��:I?�!956��'/�*'y=�56�8����:���
�� t�?@���������gzc��59:�=P� v+,



� � �

� ���&��=��%���*����59��5Mw�59� L(��������=���Q7��w����*z3��=��]"�����?�
�?�56!959� L('�59������56?/2/��59���0p;2��/)���59���O)�������59�����l��p@

"�2����(? 
�)
	3:�����2���'yQS59��=/��2/����=��(��56:�� 
�! )����P����56?�2/��56��� z�
���' � ��� � 
g���P���0s�
���!6�\��56�O2�!6
$��59�����
��pS��=/�R?�!659��'�����:�56����Q]�����y�4
$'���zl�*
�)C= )*���P�C
$56��59��:N��=��4��
����R�32��O?@�*�\��p��*�P����56���I
��O��=/�
��w��*�P���g56� ��=/�Z' 
W�C
/, -%=��}�*�P����56���K���*" 
$����5M��59��� 56�y'�5�� �����*�P�yp;���R�*
�)C= ��56�O2�!6
$��59���mz%QS59��=
��=/�J���*�8����56)���56��� =/�xQ7��w��*�K��pH��=��J'�59������56?/2/��59����p;2���)+��59��� ��= 
$"o�J���>���B
�!956�8��56)*
�!6!ML>'�����)*��56?@�
��=/�K?�
�)
	3:�����2/��'m, -%=�56�\"/����w�56'�������=��R���*)��*����
��8L��8�C
$��56�8��56)��I
��I��2�:�:��*�8���*' ?PL ����! 	��y
$��'
�^��"@� � � ��� �~,

� �����*
�)C=Z�$p7��=�� � � � �R? 
�)
	3:�����2���'Z��59�O2�!V
W��56�����E��p.��=/��?/!656�/'J���*:�56���mz#
R��)B
��}56��"@�*� �
p;�����1��'\:�59w�56�/:Ap;���X�*
�)C=I�����*"I��pe��=��%��!659'�56��:�QS56��'/�xQ�
�)*����������"@����'�59��:�F���
$��'�
Ew�
$!62����$p +E,
��2���56��:\��=/�D��)*
��Y����
g���P���Os�
���!6��z���=��(QS56'/��= �[�$p`��=/�0��56:�� 
$! �H
�2/����56
��K56��"�����"@���8��56��� 
�!
������=��H�1
�����!6��)B
$��56���Zt;�1�*
�� �^v+,%-%=�59�A"�����wc59'��*�E
1�������$p � )��\w$
�!62/�*����p + "@�*�A��)B
$�mz 
$��'
��=/�E=�59:�=��*�8� + � � 	 56�.���*)�����'/�*'m,l-%=��E'�56�8����59?�2/��56���I��pm��=��E=/56:�=������ + ��� 	 w$
�!62/��p;������=/� � � ���
? 
�)
	3:�����2���'�
g���P���0s�
���!6�I���c'���!6�(t;!V
�?@�*!9�*' � "��1��56:���
�! �3v�56�%��=���QS�Y56�K�`59:�,/r/, r*)�,

-%=�����
$�1�O���*���H)*
��Z?@�\'����/�IQS=/�*�Z��=��I'�56�8����56?�2/��56���/��56��)�!62�'/�O��=��I��59:�� 
�! �H
$2�����5V
��mz

���' � � � �4��)B
������$p 
K���P����s�
���!6�G��56�O2�!6
$��59�����S��p���=/�O?�!659��'N���*:�59���YQ7�*���I"����c'/2�)*��'mz QS59��=
��=/�g? 
$)
	�:�����2��/'a'��*��)*��56"/��56����
���' ��=��g��56:�� 
�!%'���)B
BL�, �`59:�,lr�,kr �T��=���QS�G
TF��1'������g
$�1

� L�"�56)*
�!������*"[�$p]��=/�1��!656'/56��:GQS59��'���Qd'�2���56��:K
y��)*
��[��p�
 
K���P���Rs�
$��!6�y���c'/�*!l56�/)*!62/'�56��:
��=/�����B
���)C=��*' 1�3A��56:���
�!~, � �T��=�59����)*
��mz#��=��\F��(QS59��=T�4
W|c59�O2�� +n= 
�"�"@�*�/�(QS=/�*�Z��=�� �
��p^��=�����!956'�59��:0QS59��'���Q 56�]
$�]��=���:�59w��*�G59��"�2/� 1�3l�4
$������p^��=�� 
g���3���Hs�
���!9�Rt �/, r �(���	�$) 	+v

���' �f56:�,�r�,kr��N��=���QS�G��=��N���*��2�!9��56��:Z��)B
$� 56�����*�����G��p�+_w$
�!92���z�QS5M��= + � � 	 � �c, -%=��
'�59������56?�2c��56���1��p ��=�� + ��� 	 w$
�!62����759�1��=��E"����*���*��)�����p#j � 1�3l��59:�� 
�!e��w��*�P���%59�]
$!6���0��=���QS�R59�
�`59:�,/r�,kr*)c,

-%=��D)*��5M������56���K���4�*�8�C
�?/!656��=g��=��O
4"/��56����5^"����*������)*�\�$p�
1��56:�� 
$!#QS=/�*�N��=/�D��)*
��N59�A"@�*� �
p;�����1��'N���N��=/�O' 
$��
456�A'������*����56�/�*'NQS59��=Y��=/�O'�56�8����56?�2/��56���g��p + � � 	 p;������=�� � � � � 
g���3���
s�
���!6�4����'��*!9� � � ��� � � ����59:�� 
�!u,�
n��=/���*��=���!9' + ���\p;��� + � � 	 59��p;��2���'Np;�����b�`56:�,er�,kr*)I��2�)C=
��=�
$� �
�
�\��)*
��������y"�2����0? 
$)
	�:�����2��/'g��
$��59��pUL �

+ ��� 	 
 + ���



� )��

-%=�59��)*���/F�'��*��)��I!6��w��*!l
W� �
�/,	� �b�$p7"/2����\? 
$)
	�:�����2��/'Z"@��"�2�!6
$��59���Y:�59w���� + ��� � jc, �c,H-%=�59�
�*�8�C
�?/!656��=��*����=��I
R"���59����5&��=����*��=/��!6'T��p7'������*)+��56���}p;���A��=��I'���)B
BL 1�3 � � � ��� �>QS=����Z��=/�
��)*
��yQS56!6! ?o�(
�"/"�!659�*'R���\��=/�H'�
$�C
/,

-%=��E"o��Q7�*����p^��=�56���������%)*
��R
�!9���0?o�A'������*����56�/�*'m, � 5M��=G
H��=����*��=/��!6'G������
$�:+ ��� � jc, �cz
p;���.)B
����*��QS=�������
0'��*)*
�L1��59:�� 
�!e59�]56�/)*!62/'��*'156�4��=�� 
g���3���(s�
���!6�D'/�*��)���59"/��59���4��p^��=��E?/!656�/'
����:�56���mz ��� � ��pe��=��%'/56������59?�2/��59���O��p(+ � � 	 56��
$?o��w��Sjc, �EQS=����4j ����56:���
�!/�+w��*�P���]
����%"����������3�*,
� 59��= )�����56:���
�!m��w��*�P���E56�R��=�� 
g���P���Os�
���!6��z/59�%Q]
���p;��2���'y��= 
$��r � � ��p&��=��H'�56�8����56?�2/��56���
��
W��56�8F �*� + � � 	 � j/,��c,

uniform
Entries  410
Mean    6.315
RMS    0.2077

 / ndf 2χ  11.47 / 33
Prob   0.9998
Constant (bg)  12.19± 1.659 
background  3.034± 14.88 
mass      0.005174± 6.396 
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+π ψ J/→ cB

20.0048 GeV/c± Mass = 6.2870cB
2

Resolution (fixed) = 15.5 MeV/c

under peak
 1.4 evts±Mean exp. backgd.: 10.0 

 5.7 events±Signal: 18.9 
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